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Who among the following artist is a famous j

Madhubani painter ?

A) Bharti Dayal

B) Sudarshan Kamat

C) Hrishikesh Sharma

D) Spoorthi Rao

A) T sHe

B) wa. Sfi. TATS

C) TaTeTHsT el
D) et TR faerh
E) 3Irfaa d & HI5 T

Who was the leader of the Theosophical

Society in India ?
A) Annie Besant

B) M. G. Ranade

C) Gopalakrishna Gokhale
D) Balagangadhar Tilak

E) None of the above
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E) None of the above
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3. 1 ae awat ?

1 37

E) Wﬁﬁﬁgﬂéf

1 Watt is equal to

_fohm_
A 1second

1coulomb
B) 1second

1ampere
©) 1second
1joule
D) 1second
E) None of the above
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TR e 7
A) I S
B) ferssrdt 9aR
C) e &
D) 3w wf
E) w7 & & % T
Which of the following affects Indian
monsoon ?
/A) ElNifo
B) Tibetan Plateau
L) Jet Streams
D) Allof the above
E) None of the above

@E_@
_E HH




6. T =g e % o s o 1 R e

@)/Aquifer

EA2

]
:
2

State sh
all €ndeavouyr to secure the Citizen
a

————— throughout the terrj
territo :
A) Uniform WOrk ry of |nd|a_

B) Uniform Education
C) Uniform Wage
) Uniform Civil Code

E) None of the above

T WSNT 3N T=Xor hielt & 7
A) sfE |
B) Sfeiyd

C) Siewrgvl &

D) 3mefiEm Hat

E) SwfFa A @ PR T
What is the term used for underground layers

of rock that store and transmit groundwater ?

A) Basin

C) Watershed area

D) Artesian well
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E) None of the above
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E) 3TH & 4 55 14

Which bird, Symbolizing power and
strength, was officially declared as the
national bird of the United States of
America in December 2024 ?

A) American Robin

B) Peregrine Falcon

C) Bald Eagle

2 Golden Eagle
E) None of the above

8. T meeyehie v g framw fead gﬁ,@

2025 %1 fowa 7 R ¢ s
A) “greie | gty | g 1
B) ““qfit % forw wehee | wmd forra | BT
sy |
C) “uft N qita | SEEd H e
ECI
D) “‘3I@h! ¥ | I5h ATTHR |”
E) ST § & %1
What is the theme of World Day to Combat
Desertification and Drought 2025 ?
A) “Restoration. Land. Recovery.”
B) “United for Land. Our Legacy. Our
Future.”
L) “Restore the Land. Unlock the
Opportunities.”
D) “Her Land. Her Rights.”
E) None of the above
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i (3. . 9 - 13) : RT o1 ezt AR %=r§ e o Preh & avhey -
fo MO WA I | | Wﬁrﬁaﬁaﬁuﬁmw%?
el XYZ 3 T e i ) 1R ) (750 B) 1285
3 Frwe & foro O S R den M o) e D) 1432
3R wfee 1 3 fean mn R E)Wﬂﬁaﬁé?ﬁ
; . number of
pirection (Q. No. 9 - 13) : Study the table and J What is the averagerkShop o %‘5
answer the questions given below. ! people register for WO ~ Ol ss
_ J Chennai. Hyderabad and Delhi 7
Company XYZ organised a workshop. Number of | 1 750’ B) 1285
people and ratio of male and female register fora | C; 1459 D) 1432
kshop f i iti i
workshop from different cities are given. E) None of the above
GO || 11, ey o feeett @ 3 O "Wz“@]
TR E | wfgen S 3 TS & 5 T8 Tt b Fe
we/City | CuheRw/ | grum/ ¥ ot 7 AL 7
Register for | Ratio of A) 215 B) 200
workshop ‘n;ale alnd C) 259 D) 211
. _fema® E) 3qdaa § @ HIE T
ee/Bangalore 1200 5:7 What is the difference between the total
faeeh/ Delhi 950 11:8 number of femaleregister from Bangalore
<=5/ Chennai 1800 - 3:6 and Delhi together and the total number
b ister from Pataa and Nagaland
T/ 2500 | 12:13 of male regis
Hyderabad together ?
@%’0 921/ Patna 700 A) 215 ~B) 200
A anmeivg/Nagaland 800 C) 259 D) 211
R ‘ E) None of the above
< i R TE TS §
Y 9. W d g P 3 g 12. R i AT Yoo T 200 @ I TR
et e et 1 o e S € T 2250 2, T 9= ¥ st 3 el
A) 156.3% B) 157f5% aftr sfia & 7
\%166.66% D) 196.3% A) ¥ 3,60,000 B) ¥2,50,000
E) 7 & & HIE T8 C) %2,90,000 3,90,000
E4E Total number of (halg register from @alore E) 3w & & HIg T8
E"if)w@ is approximately what percent of total female For female, fees of the workshop is ¥ 200 and
(=] register from Nagaland ? for m:li is T 250. Tfhen how much amount
earned by company from Chennai ?
56.3% B) 157.5%
A 0 s A) T3,60,000 B) % 2,50,000
C) 166.66% ) 196.3% C) %2,90,000 D) ¥ 3,90,000
E) None of the above E) None of the above
-, S Arddn N XT T kT
AL N AT
A b@ ] wA‘
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A) fearEe wam

A) 11:7
C)) 11:3 B) 13:4 ! B) IMIEE
E) 390 3 4 #¢ il | c;m'ff;'wx
@ What is the Té‘T | D) ¥ '
fespective ratio between gy | ) g 4 v o
. srate ?

¥ numb
(=] R, umber of female register | )
gisterin Hyderabad and 1 Garhwali is a folk dance of which

male reqi ; ‘
gister in Patna ? 2 A) Himachal Pradesh
! ) Uttarakhand

A) 11:7 (1314
C) 11:3 D) 12_'7 C) Jammu and Kashmir
E) None of the above ' D) Uttar Pradesh
14, ™ 99 51 @ E) None?fthe above R
A TATE R 7 6, K 17, v T e i oA A e
PRI Ok o rtaré feag” % & & w7
B) fafram KRS A) 13 3T, 1946
C) 3wl %”( ' B) 14 37T, 1946
D) <5 WH V4 & C) 15 3T, 1947
S miasiw | O metiite
Who was the founder of the Mauryan Which day was observed as “Direct Action
dynasty ? Day” in the Indian Freedom Movement 7
A) Kalashoka ) August 13, 1946
B) Bimbisara | . B) August 14, 1946
C) Ashoka C) August 15, 1947
D) Chandragupta Maurya D) August 16, 1946
E) None of the above E) None of the above
R 18. 55 i form aie w= afies das, 2025 @H@
15. mﬁ:ﬁ@:wﬁwm(?)aﬁm o st 178 o 7 ﬁf&h
p) o, fereats
3,3,45,9, 22.5,7 B m_m’ w@
K) 67.5 B) 55 c) waf@, feagsete
C) 24 D) 27.3 | D) fran, fegatete
E) s § & IS T E) v & & H T
; i : Where was the 55" World Economic Forum
Replace the question mark (?) in the following Anual Mesting, 2025 held ?

A) Bern, Switzerland
3,3,45,9,225 ? Davos-Klosters, Switzerland
A) 67.5 B) 55 C) Zurich, Switzerland

C) 24 D) 27.3 D) Geneva, Switzerland

E) None of the above None of the above

number series with suitable option.

P.T.O.
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Which was the first urban civilization in South

Asia ?

%(nn 21- 25) ifereR! 1 LT H m%
et o o % 7 2

i eepp— L MLk )
YAeH 4 & a1l Al 3’7'9'%'9'3 3N e N
mﬁwﬁ@ﬁﬁmﬁmaﬁ*ﬂam%l
Direction (Q. No. 21 - 25) : Study the table anq

answer the questions given below.

The table shows total number o
5 different towns, percentageé of voters who dq

not vote and percentage of female out of tota|
persons who have voted.

f voters iy

A) Chinese Civilization "/r—__ﬁ‘
| Fel HAGIAA
B) Harappan Civilization o | :rgamqﬁ?ﬁ H A mfgen
0. Hdqrdl i
C) Egyptian Civilization \Sfyzgg g;a/ 1 T/ maﬁ/m
D) Mesopotamian Civilization \Q% m/n q.:;{:l Pe;cel:t:ge Percentage
of vote
of female
E) None of the above ! voters | .o dto not out of total
. . vote
20. 4 3! F TeY B T S 9 ¥ yoiq: e B, voters voted
T2 2 560 A | 30000 1524500 30
A) 1000 % B | 13500 20=24 45
‘K‘}, v C | 28000 | 18=8%5, 40
B) 1018 > D | 16000 12 60
Vv
C) 1009 éﬁx E | 32500 6 z\ago 40
D) 1008 ‘\go 21.w&wsﬁwqmaﬁgm§[3ﬂx .
: : \ TSN ol I 5:4 8, AIRBIFA zgihs
30 ° & . ’ . =
2 e T gwmaﬁ%ﬁtww%mmaﬁlﬂm
. o T I T 8 7
digit number which is exactl
3@,13@ The- igast &xditt nu Y A) 124:101 B) 101: 124
B divisible by 91s X C) 100: 101 D) 124: 111
A) 1000 37?‘ E) 3w & & i T
#y LY If the ratio of male to female who do not
B) 1018 \f’ \n\ vote is 5 : 4 from town B, then what is the
o ratio of total male voters and total female
C) 1009 NS 2 voters from town B ?
) 1008 \Ov%/ AT 124:101 B) 101:124
| C) 100: 101 D) 124 : 111
E) None of the above E) None of the above
W o, e o
Pk \ W el g(,yk\m
% % 5 ° oA
x \ % (3N
NS k> 00 I)\W“M/
e \V et
% & /




o, T B TR LR E—

B e

3 '!q E W % ? 24 Mt A. B ‘&”7 (, o e f"r'H IR KM'ZH ?25-@,
A) 11:9 fpm 2 7 Dlat
B) 13:9 A) 59360 ,
~CD

C) 9:11 B 59260 '1/;%00

\O? 0
D) 9:13 C) 59460 M

: 59060 .

E) 3 3 & 2 D) <§V

@ [gg What is the ratio of male to female who

- :l\

[E::4 have voted from town B 7

\)({11:9

92?(93\\

E) 3T 0 1 575

What is the total number of people whO

Z
have voted from town A, B and C togethe’ ’

 A) 59360
B) 13:9 o\ . B) 59260
o) 9: 1 ¥ ﬁ C) 59460
D) 9:13 D) 59060

E) None of the above
E) None of the above
| 25, W& E & e i ael J 3 g BH "
ZB.WA,CaﬂIEﬁW?ﬁW“Wﬁ ) Tt w5 wen ¥ € a FR L 7

H it w2 7 ‘éﬁ;goz‘o A) 12660
A) 3030 \q€ © B) 13470
B) 3930 o C) 13670

3830 o D 12470
D) 3630 3 \%— E) 3w o § =18
E) 3uded # § HIg T W ‘

What is the average number of voters who

What is the difference between number

of male from town E who have voted and

have not voted from town A, C and E

female from town B who have voted ?

together ?
A) 3030
B) 3930
C) 3830
D) 3630
)

E) None of the above

EA2| i

l’\7

%
570

“;V\\/
G

Pge) A) ‘12660 \m&%
f?\goo B}13470 - m
\
Kﬁ C) 13670
\%,50 D) 12470
ke E) None of the above
o AT P.T.0.
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i (4.4, 26 - 30) : ﬁw%%ammwm 27."20245'@%}&;\ 3 aht v B g Ew

SyeE B AR Tl T ¥ I D |

freafoed Y@T-ms Ffafes vl % o i |
el g1 eft 1 et o e e & Wt A 2 |
yfafaferea #ar ® |

Direction (Q. No. 26 - 30) : Study the following |

information carefully and answer the related
questions.

Following line-graph represents the data
regarding total number of shirts sold by different
shops during the following years.

/;

>(,,

4600 +——
4200
3800 -
3400 +— »—
3000 -+

2600
1800
1400

i
|
|

2025

1000 —— ‘
e[ C

2021 2024
A B
Shop B # Shop C

7 N

2022 A 2023 ,5\
Sl ‘

- Shop A

AT T 3Gd FT 8 ?

A) 3300 Nﬁ
\vg
_Br"3200 "
C) 3100 5
D) 3000
E) 3uged § & I3 T8

m%E What is the average of total number of shirts
[%itu-:' sold from all given shops taken togetggr in

2022 7 o 7/ qf;%
A) 3300 al° oo sV
B) 3200 X 5°
C) 3100 %K 0 ° %
D) 3000 %'1/‘\0
E) None of the above \

N v

S°p0
% B {87
¥ 2. 2022ﬁmﬁan§gzsr—ﬁﬁéiﬁn§slﬁaﬁw

O&ﬂ

28.

%

iz 1 2022 3 g™ C B 3R T @W

) oot s H FE: ST 27
A) 6:7 B) 5:6
C) 4:5 D) 3:4
E) e i @ H1E T

What is the respective ratio of total numbg,

of shirts sold from shop A in 2024 to the

total number of shirts sold from shop Ciin

%‘L B) 5:6

ve~)/45 ’\°( 7"’%0)34

E) None of the above x

2022 ?

2022 3 2024 % gFMA B & el T W I %7
é@wwmmﬁgﬂAﬁﬁﬁ
ot 1 P G H T T AR B ?

A) 1800 B) 1000

C) 1200 D) 800

E) 3Iuded # @ 1 A&

What is the difference between total number

of shirts sold from shop B in 2022 and 2024

taken together and total number of shirts sold
from shop A in same time period ?

J/ 1800 B) 1000

) 1200 D) 800

E) None of the above
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AATAATANATATATATAS

@5 e 2025 F 3 T Rl et
f;j‘f‘jﬂ* Sﬁﬁwﬁwﬂiwﬁﬁi 3. N, M 5 3y | 1 for

] ST T T o
B) 115% TR iy s afaT
C) 1% e
D) 108% FoaY B) X
E) S 3 & o 7 | c) M N o i
| E) IWF 5 A #

Tot i

al number of shirts sold from shopBandC

t .

aken together in 2023 are approximately »
what percent of total number of shirts sold

from same shops taken together in 2025 ?

N is more intelligent than M. M is N0
intelligent as Y. X is more intelligent tha Y

but not as intelligent as N. Who is the most

\AV 1e1% intelligent of all ? N
B) 115% Y o x ! 3
C) 111%
D) 108% ‘ )M f N
E) None of the above E) None of the above

30. 2021ﬁma"§§¥ﬁﬁé’£ﬁﬂémﬁﬁ§a 30 WTd % TREH 1 W0 - 3
éwaﬂrzozsﬁmanégamﬁﬁqg p) i Fdsd
el i g s 1 ST 7 B) i of 3w i
A) 35:43 B) 10:13 C) TR
Cc) 11:14 D) 22:25 D)W?}{fﬁw

e) sefm i P mAEERT

What is the respective ratio of total number of Part — 1 of Constitution of India i

gether
A) Fundamental Duties

By Union and its Territory

shirts sold from all given shops taken to
s sold from '

in 2021 to the total number of shirt

H

all given shops taken together in 2023 ?7
_Ay35:43 B) 10: 13 . O) Cizenshp
C) 11: 14 D) 22:25 D) Fundamental Rights

E) None of the above E) Noneoftheaoo%e

P.T.O.
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A) S B) frmt
C) =M D) el
E) 3T § § 9 7

The headquarters of the Asia-Pacific
Economic Cooperation (APEC) is in
A) Bangkok ) Singapore
C) Tokyo D) Jakarta
E) None of the above

34.
W@Hmﬁmmﬁmﬁw% ?
A) TTEERA A (H

B) Wmﬁmﬁlﬁm@mm(w

) T FIEGISH Ty (H)

D) FOMCHE T F AR Fregrom

E) 3w # & i 7 |
E;j‘[ﬂ When an acid is dissolved in water the
Eﬂ "y hydrogen present in it Separates out as

A) Hydrogen gas (H 5) ;

VB)/ Positively charged hydrogen ions (H*)
C) Neutral hydrogen atoms (H)
D) Negatively charged hydrogen ions (H-)
E) None of the above
% 3% fegea™ T WA 1 YgeT S &
Ty feham TR o1 7
A) 1871
C) 1770
E) Sydad # @ IS 7
The first bank of India called the Bank of
Hindoostan was established in
A) 1871 B) 1970
¥C) 1770 WD) 1870
E) None of the above

35.

B) 1970
D) 1870

~~1047

\

W%@ﬁmaﬁmﬁaﬁwm% ar Jui

A (H)

; T 7 1936 W'?'a wHT WaRfer o 3
| B qan S A F R 'mﬁ’\m
| WyEe ) foma S F TAHAH RALEG1 I
Rrepr e 7o eerms % TR @ A qfy 5y

¥ e wavar fig # B 2 :zmg?ﬁé,}
W%ﬁﬁmﬁmmﬁa@WQ
Topem & wyd faame et 2 1 ot T 1 g
T g 98 g F @Y ATEA-I T R g
FAR 29 % e A T F TS B 3
TR 3 g8 ween fabid fo 2 ) s
TR ¥ S R G Ger ot 2 | o
B Teg 1 T Bl B |
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e 2 | wmadt aan, fiy o T g
I T sraE gRfeufd & AT gear we o 3
Fl & WA I T g it o, T,
o e & fayfva & | gwredt B Tl B9
t Sgehl g F A w1 GfE A guETe
H | T A e @t F fow s @
e iz & e I o1 g ST fEE T A
THT |

T T ey R st o Ry v e 2w
mﬁtm%mm%@gﬁ%lmﬁw
TR 8 TR T g AT R | 39 Tt 3
qraifer ferm mam 2 |
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A) Fafiar B) a&
) g D) itz

E) 39 & & %1 78
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38. ugmﬁ;g-gng% )
A) %@
B) wevan fiig
Sy Iefiz
D) fizfim
E) Swiw & & o
39. W@aﬁtmﬁmw%m
—  femaie
A Ty ‘
B) I
C) o

D) YS9

E) 3w # @ % 78

40. ‘e’ fergehl 91 & 7
A) Tevr g
B) geAfirst
C) g

) i

E) 3wdwa & & A &

EA2 | |l

o

SN, TS M S ¥ 1 F v w e
I T F IH A vy | 6w F
T T ST RO W s o, 3 5wt
TR % T 8 e w9 | e o i v
U UA-Tmer N, o F g Tt goeE
T AT, TE g0 ‘et g ) ST
%, Tt s iy, e o ey 2 e 6
m%mﬁwﬁm%m%ﬁgﬁmmﬁ%aﬁa
ST B! et AR g “oher w6 e
T | e, Tovare, it s st s
R R e ——
o # T, s, O, wf, e s wh
foaem for 2

41, wadt 30 ¥ 9o gR fa-wer’ 4, E¥E
3G T g e wveE ) gy B

Ay B) e
C) @ D)W
E) Suged § ¥ HI3 T

P.T.O.
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2 W%Wﬁm#faﬁﬂa — 47, mmw%mﬂtﬁﬁﬂﬂm\al
Eﬁlﬁmaﬁéﬁu—gmmuﬁm A o
awf'ﬁwama ufeatst sy anfe 3 -3 ) o
A 7 i yfessr 6 | )
A) ThifFq o) arh
B) AHR D) ardft
\0f w-frvafy L @
Rofaee : ; 40
[E); Wrﬁ@qfﬁi‘qﬁ et
A) 3;@'%7{
43.mﬁ?ﬁﬁ9ﬁﬁ?anmmmgﬁgmrﬁﬂ R -
-W%ﬁﬂﬁm%w%mﬁamﬁ
ﬁsaaﬁsrﬁwaﬁngg? C) wfegel
A) frgi B) ff dwem D)ﬁm?“‘ .
C) += e Dy w-fagn E) v # § Pl T
E) S & & ¢ T 49, ‘3 § YT T Tl 2, v WE o 3

44, TR, Sewe, TUE T ST 3 @ T A) T® Gug | 7 3
IS hT AT & &9 8 forgeht wfmar 61 7

B) &4 &% WA
A) & . B) TmIfEd
E) I o & ¢ D) =&q e 2
45. Frad 3ifac Tvem B w6 7 E) 3Td#d & & wi§ T
S SN - RO T —
N A D) g | .ﬁ \
E) I 8 & e 7 R el e g e
forfau |
. ‘3uel gt 9 I' I8 aT
; ;:‘ramwmj%;l A e iR S e e 2
A) T B) Wifewt 3R et st 3pat iy 2 |
oF O e st S o w2
) TUTETE
D) wfEmrETE D) A S S i e 2
E) S & & = B TR A A g
O 'Y 12 4 T
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'51. @ e T m&fmm - ?ﬂmﬁ&
A) & % &T@Ewﬁgw

Swadeshi was essentially an economic
movement because

A) Improve economic standard of the
people
B) Increase national income

C) Create employment

\p)”lntended to give impetus to indigenous
industries

E) None of the above

52, TH A WA 1 AW 1@@%@13{1}

% g et %snaﬁ%m:{w%?
7 2
N B) <
1 5
o) 1 0) >
E) 39w & & &3 &

A fraction becomes l when 1 is subtracted
3

from the numerator and it becomes %when
8 is added to its denominator. The fraction is

2
7
A = B) =
) 12 9
5
c) ] N
3 12
E) None of the above

T 4

- 53 siverrfrft e foreg

B 2o frogg 27
B) e
DIEL

A) I
C) W
E) 374 1 3 s

Dhaulagiri mountain peak is located IN which

country ?
A Bhgtan \‘,Zﬂ\lepal
*C) India D) Burma

E) None of the ahove

54 tﬂ"ﬂ?ﬁm?ﬂaﬁmﬁ m;srr,nq Dﬂrﬂ

A-?-l

gﬁw%wwﬁmma,( o
A) 10 B) 9
C) 8 D) 1

E) 39F 8 & %ié 7]

The square of Meena’s age is 9 more than
8 times her age. ?
ge. What is her age "6“ ,0

A) 10 B Y N, oo
C) 8 D) 1 :/;f((&;! S
E) None of the above ;@y‘ )

5. feterer e g e s (S T N W&

‘s’m Tl T T 2 R R &1 firEset 2 2
TR-Z-TR s
B) BT -TIS-Hiie Th-3F Mees famse
C) Few{H-ai-=g afafees frmmsa
D) whel-g-T firemeet
E) 3w § & 1%
What type of missile is the Nag Mark 2
developed by the Defence Research and
Development Organization (DRDO) ?
A) Air-to-Air Missile
B) Fire-and-Forget Anti-Tank Guided
Missile
C) Submarine-Launched Ballistic Missile
«Bf Surface-to-Air Missile
E) None of the above

P.T.O.




57.

[E1%[=] Who is regarded as the 24™ and last
@ %' L Tirthankara in Jainism ?

58.

. A A A AT AARANARATASATARAZEN AN

mmumuunmm

\M Right against Exploitation

A) FH B) afal 5
C) JiRay D) !
E) 3T # & 3
Which mineral is found in monazite sands ?
A) Mica B) Copper

L) Thorium D) Uranium

E) None of the above

S e 8 243 ik it ek Ry T ST R 7
A) ey

B) S¥MM wErei

C) ura-Ty

D) REWTY

E) 3w # @ % &

A) Neminatha
Vardhamana Mahavira

C) Parshvanatha

D) Rishabhanatha

E) None of the above

wn?ﬂaaﬁaﬂ%aﬁ'@azsaﬁtﬂ%mmé
i HTRAAER

A) T % Reer® TR

B) Taaadl sl AUHR

C) s=di &l U

D) THHAT &1 JHR

E) 39dd & & 1§ T

The citizens have been guaranteed the
through Articles 23 and 24 of the

Constitution of India.

B) Right to Freedom

C) Employment of Children
D) Right to Equality

E) None of the above

59,

60.

61.

1 :gﬂ'fg B) 16 wah
A; :3 E¢ D) 1133
E) 30 i & 1% T .
The international Olympic Day is
on
Obsenlle(; B) February 1¢
C) j:jnye 23 D) June 11

E) None of the above
20 fire T T F e e 2 7
B) 50%

A) 35% 1
33—%
C) 30% 2 3
E) 3o § & I T
20 minutes is what percent of an hour ?
A) 35% B) 50%
1 o
C) 30% D) 335 %o

E) None of the above

T T e He el e § 7 g w
A) q%

B) whicishral

C) ==

D) T

E) 39dd § ¥ =I5 T8

Saha Institute of Nuclear Physics is
situated in

A) Mumbai

B) Kolkata

C) Chennai

\-/Df Pune

E) None of the above

ATATA A A LAz A AEAEAATATA

A A A A AN A AT A A AN AR A Attt
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I St -
- m

I R 64, sa wrpfae iy (891) e & srfarefrot L}*j@
A) ST Sh A TR R, D A gy 7 P
B) fieft wify A) 5 1 sy
C) @ wify B) T 2151tz 132 St At A
D) ¥ ify O) 1% Sy st st
. D) T Starreg e e
E) I 3§ wd E) 3T 6 538
Water Seed-Fertilizer technology is When natural gas (methane) burns in the
Popularly known as ." oxygen of air, what are the products
A) Red Revolution formed ?
B) Blue Revolution . A) Methane and water vapour
\Q{ Green Revolution J «B) Carbon dioxide and water vapour

. : C) Carbon dioxide and oxygen
D) White Revolution D) Carbon monoxide and water
E) None of the above E) None of the above

63. WRT % fohwl Tl W SIS g1 ool N (300 | 65, ey 2025 3, 4feerey 7 e i g wfgE

FGHHT 1 e e P Al 7 S Y e % fa Imeme s TemEES & =T A
A) SR ‘ o8 e v mn 2
B) @™l ‘ A) T SR
C) = B) &4 %rgr
o e
E) 39w & § ig T ) e 4
Wilch Sizte of Inchathies ATNEKEA Ty 4 In January 2025, who was appointed as the
15 Dalhousie was the most unjustified act ff Vice President and General Manager for India
EE#&; British aggression 7 and South Asia Beverages by PepsiCo ?
A) Jaipur A) Ramesh Chauhan
B) Satara B) Sanjeev Chad‘dha
C) Jhansi | C) Nitin Bhandari
! D) Deepak lyer -
VD/) Avach E) None of the above

E) None of the above I
e P.T.0.

.
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i o Y

o g ST AT | gt Ty

g gT Y 7 %ymﬁﬁﬁmm%ﬁ%mh
A) T Pty g =t 1 ST Ty g,
B) ¥ ™ Iy oy s 20 © |

c) df Direction (q. No. 68 = 72) Study the following
D) T | information carefully and answer the questigy,

E) 3w & @ HK T 1 given below.

20%

E) None of the above

The modern Olympic Games were first held | The given pie chart shows the number of sateljteg
in which city ? 'aUnched by five different countries.
A) Rome mﬁﬁgﬂﬁ@mﬁotal number of
/5) Athens Satellites = 12000
C) Paris U 400
D) London Ireland = r
)

67 Froht wufy @ @t g 3 aiiE U
&1 HOT foRe AT 2,

p) s e \(%
B) =¥l \";Oo
G S v 68. ImEE, Ao 3ft AT gru vafrd IwE #
D) e fere sfted FE i HIT |
E) SRiEd # & IS T A) 3500 B) 3200
@#& Who considered private property to be the C) 3000 D) 2800
@ﬂi{: cause of all social and economic evils ? E) 3‘1@3?{ i3 o 7
A Marx an’d Engels Find the average number of satellites
B) Marshall launched by Ireland, Belgium and Norway.
C) Simon A) 3500 B) 3200
D) Adam Smith _ef 3000 D) 2800

E) None of the above

E) None of the above

[T 41647 W,
Y060

b \J

)

p,, i
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69

el 2 vafd g 3tk @En IR 6 qen

oHC) 1 3TA 3: 28 | FATE] ZI WA HE g

o

70.

= ) g §a i | (Fad FAE G wafg

e 3 T ImE e #)

A) 800 B) 780

C) 750 D) 720

E) 3w 4 & #1 T

The ratio of the number of remote and
communication satellites launched by Canada
is 3 : 2. Find the number of communication

satellites launched by Canada. (Consider

only remote and communication satellites,;l,o
U

g
% )

72.

launched by Canada)
A) 800

C) 750
E) None of the above

s 21 S e S Y wAe S
aﬁmmmrs%mmﬁmmuéﬁa
wmmﬁmmﬁm NEEE
e g A e 3 F Faeh IR
7 fa=m )

A) 670

C) 650

E) v § & HE T
of the number of network and agriculture
ais

B) 780

Jr720

B) 660
D) 640

Ratio
related satellites launched by Romani

7 - 8. Find the number of agriculture related

satellites launched by Romania. (Consider
only the network and agriculture rela

ted

71

: . el U’Xf( o
afem g e g 61w afd %
oAl Y HE #y fwaan afard R

A) 84.44% B) 83.33%

C) 82.22% D) 80.557

g) IwfF A 4 rd
The number of satellites Iaunched

by Belgium is what percent of the

number of satellites launched bY

Norway ?
Br83.33%

D) 80.55%

A) 84.44%
C) 82.22%

E) None of the above
e g i T ) e AS A
aifa soEl & gen § 00% e 2 | T
i S g s SR 1 EET % T
FqL T AT |
A) 1680 B) 1670

C) 1660 D) 1640

E) I § ¥ B T

The number of satellites launched by India
is 20% more than the number of satellites
launched by Ireland. Find the difference

between the number of satellites launched

by India and Romania.

satellites launched by Romania) ’ J()/1680 B) 1670
A) 670 B) 660 C) 1660 D) 1640
C) 650 27 640
E) None of the above F) Noneoftheabove
A 174 W O 1 PTo.
Q?*M”p@ q3° ° %‘é” ( So(f
%% AN . /qf«
&b 4,° v




73, §2 4 3@ H qfdd T I ggen 39 FHl

fo o 7
A) FTATY
C) FIM
E) 30 § A 3

B) afrerl

D) sheprn

Where did the Buddha deliver his first sermon
on deliverance from suffering ?

\,Kf Sarnath

C) Kushinagar
E) None of the above

\o
74, 7 3x—14 =47 x = o
A) -9 B) 9
C) -6 o6
E) Iwfed & & H13 T8
If 3x — 14 =4 then X =
A) -9 B)
C) -6 D)
E) None of the above
75. ST a1 e R 8 7
A) TETH B) aﬂ‘m
C) I D) feeett
E) 3w # ¥ HE T
Shahmar Bagh is located in -
A) Lucknow \,B'f Srlnagar
C) Agra D) Delhi
E) None of the above
76. fafsom imisa sewme el foud @ 7
A) AEgm B) dfierTg
C) HERTS D) @
E) S0 8 & P T

(=15 el Where is the Vizhinjam International Seaport 'j

mﬂif» is situated ?

A) Lakshadweep BY Tamil Nadu
C) Maharashtra D) Kerala
E) None of the above

I

B) Lumbini

D) Bodh Gaya

3

1

Prasamanian

3

ez
77 W“aﬁmqﬂf?ﬁﬂ‘ﬂﬂ%fﬂ T 31 vy
) aarg #1 AT fea = !
A) st
B) e
C) vifart
D) e
E) wj‘dﬁ i @ A T2
First day of a leap year is Wednesday, then
what day of the week was it on 315 Decembe
. 20
?
In that year * 21

) Friday 2)

B Monday 7%0 5
C) Saturday ’LL R R
D) Thursday { §| " A
E) None of the above % c:> E];ﬁm

78. UNCTAD# R &t 1 30 K
A) e e -SRI 3 L3 TS
feearem , 14/ 6®

B) e dued FHIATeE A SN WS
AT

C) e ITE FHIHE A I8 WS I

D) FfA Y9 Hitee 3 IS TS S

E) 3wded & @ I3 T

Expand UNCTAD.

A) United Nations Co-operation on Tax
and Deduction

B) United Nations Coalition on Tariffs and
Development

C)/United Nations Conference on Trade
and Development

D) Union Nations Capital on Trade and
Development

E) None of the above
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80.

(CPTPP) &1 12 a1 Hew &d &1 7
A) 20 TR, 2024

B) 10 SHadl, 2025

C) 15 femer, 2024

D) 1 31egs, 2023

E) STfFd # ¥ HIS T

When did the United Kingdom officially become

the 12t member of the Comprehensive and |

Progressive Agreement for Trans-Pacific
Partnership (CPTPP) ?
A) November 20, 2024
J(January10, 2025
C) December 15, 2024
D) October 1, 2023

E) None of the above
aﬁmﬁmﬁi@ﬁﬁ@méwﬁgw% ?
afwmﬁaﬂ

B) HMHR
zzﬁ?ﬂ

o O

)
) el
E) g 8 & FE T

Krona is a currency of which of the following

country ?

A) South Africa
) Myanmar
C) Sweden

) Uganda

E) None of the above

I|II|||II|I||I||I||I||II|

H
!
1
H

81.

.

82.

83.

7
et o ATAT qrefy a5y e A 1A 7 ?

p) TBrEC A 3 g g e T
B) A A G ey sy T

c) *aa fet % g afpa 71
D) U A &) A Al fr
E) I 4 £1f 7

How do animals in deserts conse
Being nocturnal and excreting

e wate' {4

concentrated urine
Storing water in their skin

Being active only during the day
ater at 0Nce

)
)
D) Drinking large quantity of w
E) None of the above

T ST T A
FRFA B e A |
A) 1952 B) 1964
C) 1982 D) 1976

E) 39 § & P T
After Indian independence,

Development Programme was start
1952 B) 1964

C) 1982 D) 1976

E) None of the above

frferaa o & frw T # fgwe™ IERIEEES]

TR ?

A) T

B)

C)
) HERTG
E)

F15E
oK

Ohat

Community
edin

%faﬂm

O

Iogad B &

Which of the following States does not have

a bicameral legislature ?

&7 Rajasthan

B) Uttar Pradesh
.C) Telangana

)
D) Maharashtra
E) None of the above

P.T.O.
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./6) Placenta

85.

By High birth rate

When the foetus is growing inside the uterus
it needs nutrients. Which part provides these
nutrients ?

A) Uterus

B) Oviduct

C) Amniotic sac

e b

E) None of the above o

form 21 1 e i § s ST A
2, 98l Gvad: gl 8 |

A} . .

A country with a wide base in its population

pyramid likely has
A) Balanced population structure

C) Aging population
D) Low fertility rate
E) None of the above

86, firg sorer 7 31 S e
A (CGWB)WW B

i@ 18 A _
i ini leased the AN

Which ministry € |

Groundwater Quality Report 2024, compileq

by the Central Ground Water Board (CGWB),

on December 31, 2024 7

A) Ministry of Agriculture an

Welfare .
¢{) Union Ministry of Jal Shakti

C) Ministry of Earth Sciences

D) Ministry of Environment, Forest and
Climate Change

E) None of the above

87. T A % qR bl Wy 2 x 10230 ohn
3 | afe gl T 2 e 7 3T R %‘ﬁ*
FTTEY H1E HT &IRA 1.7 x 100 m? e
2, a1 i & gfqtesRa #1187
A) 3.4 x 1078 3TH-HIX
B) 1.7 x 1078 3tm-iex
C) 2 x 10723m-Hex
D) 1.7 x 1078 3fg-fiex
E) Swje # & IS &l
A copper wire has a resistance of
2 x 102 ohms. If its length is 2 m and its
area of cross-section is 1.7 x 10-6 m2, what
is the resistivity of copper ?
A) 3.4 x 108 ohm-meter

B 1.7 x 1078 ohm-meter
C) 2 x 1072 ohm-meter
AD) 1.7 x 1076 ohm-meter
E) None of the above

EAEATAATAS X . A A A A A TEAMEATEA A SATATEREASASATASAS
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EA2]  [Wmmmmm ;201‘%
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88. men wwiew forw o g ﬁﬁinfﬁmm} o1

A) 1947 B) 1944 | 1. Choose the indiract 1orm of the give”
C) 1946 D) 1945 sentence,
E) s & & IS T | He said, “ | shall do my best ",
Simla cont . ,
o o erence was convened in the yeq, | B He said that he would do his bes!
B) 1944 % .
C) 1946 D 1945 4 B) He said that | would do his best.
E) None of the above ; C) He said that he would do my best:
89. Frtfefia & & wden fir 3 S | | D) He said that | shall do my best.
A) SETe B) T E) None of the above
C) == D) e
E . ! @4}@
E_) R 92. Choose the correctly spelt word. %ﬁ;ﬂ’g
Find the odd one from the following. ‘}(/ _
\A’f Tasteless B) Salty Gracious
C) Sour D) Sweet B) Graccious
E) None of the above.
C) Gratious
90. form 2w I ICC fipore-farg e AR (WTC) ;
D) Grecious
2025 %1 Radre Sfiar 7
A) YRd E) None of the above
B) sficieht
C) gfeqor arshrent 93. Choose the opposite word (antonym) to the
D) o &N given word.
E) 39dad § @ HIg T8I Victory
xE];::jE-l Which country won the ICC Cricket-World Test A) Splendid
%5 Championship (WTC) 2025 title ?
eleics g P B) Virtuous
A) India
B) SriLanka | C) Reward
South Africa \9/ Defeat

D) West Indies

E) None of the above
E) None of the above

A RASASARASARASAA A A RAASAASAA A A A A HARASA A AU ASA A A A A ARA R

- AN
AN A A A AN AN RNSASAIAS, ey

one ot - -
T 4r21 4 To.




“ pirection (Q. No. 94 and 95) : Read the
following passage and answer the questions
given below it.

Reading is more than just a way to pass time —
it is @ powertul tool that opens the door t0 hew

worlds, ideas, and knowledge. People who read |
regularly often have stronger vocabularies, better |
communication skills, and a deeper understanding -

of the world around them.

Research has shown that reading fiction can

improve empathy by allowing readers to experience
life from different perspectives. Non-fiction books, |
on the other hand, help readers gain information

and understand real-life issues, history, and
scientific concepts.

In today's digital age, many people sbend more |

time on social media than reading books.
However, studies suggest that readih”(“; for even
15 to 30 minutes a day can significantly improve
concentration, reduce stress, and boost mental
well-being.

Whether it's a fantasy novel, a historical biography,
or a science article, reading helps to develop the
mind and broaden one’s horizons. It is a lifelong

habit that benefits people of all ages. |

94. According to the passage, what is one benefit

[=]* =]
=

[f:w of reading fiction ?
A) It teaches history
A) Itincreases empathy
C) Itimproves spelling
D) It helps memorize facts

E) None of the above

[

)
95 What ig the main idea of the passage !

nts

A) Reading is 0" for stude
ful
B) Only non-fiction books aré usefu

21 Reading helPS improve vocabulary and

knowledge

D) Social media is harmful tO readers

E) None of the above

96, e fo Al AR B g{f
A) 1,800 ¥
B) 1,500 ¥
C) 1,028 ¥<H
D) 1,000 5H
E) 3w # & IS &

The Rig Veda is a collection of how many

hymns ?
A) 1,800 hymns

B) 1,500 hymns

\/Of1,028 hymns

1

D) 1,000 hymns

E) None of the above

<2247



o7, faiia A fames a8 w1 T E ey
Jgjjﬂuréikﬁé%mﬂ'}w&rmlﬁﬁﬁawﬁmg§

E;’,““ a1 Haa R 7
A) HHI 3
B) &l 3
C) wig
D) HHU WIS
E) 3wdad # & 1§ 78

Vinod introduces, Vishal as the son of the
only brother of his father’s wife. How is Vinod

related to Vishal ?

A) Uncle M
B) Son ,‘JQ‘
C) Brother §\§’M "

VIZY Cousin

E) None of the above
08. T i Afa wEEH ___

A) 28 fadsit, 2000

B) 28 3d, 2000

C) 28 31T, 2000

D) 28 JTE, 2000

E) 3wfad # @ BIE T

The National Agricultural Policy was presented
in the Parliament on

1 g bt TS ot |

A) September 28, 2000
B) June 28, 2000

C) August 28, 2000

D) July 28, 2000

E) None of the above

99. sfzad oy fro Hitarz o4 (z511) A

100. Tt SREE % g 170 § A1 T 2

gAfr A

i @A -H BEA wpeeydy d, A gAf14
sparfd F gy § os dre # a7
aifard B3 7
A) HFRI
c) @ifer

E) 3T H A Frf A
Which crop did Indian Space Research
Organisation (ISRO) successfully sprout iN
space, marking a milestone in space-base’

B) A
D) T

agricultural research ?
B) Rice
D) Wheat

A) Maize

\9)/ Cowpea

E) None of the above

gz

fr T faum g & stfashdn
3 =FdH 60 TGE & A 7 |

A) 480

B) 530

C) 500

D) 450

E) Iuged # & IS TE

Article 170 of the Indian Constitution

states that State Legislative Assembly g?g

can have maximum members o

and minimum 60 members.
A) 480
B) 530

(G 500

D) 450
E) None of the above

(EA2] mmmm

P.T.O.





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

